DO NOT SCALE PRINT

&=

WAS

DRAWING

148-016-02

DIMENSIONS AND TOLERANCES IN ACCORDANCE WITH ASME Y14.5M—1994 NO. NO.
~ 102 =
o ‘\\ ONE PIECE ALUMINUM 4 N
| | COVER IS ALODIZED
| |
| | ONLY, NO PANT — _ |
| @ = i (8) THREADED FORMING SCREWS ‘QUALITROL.|
| R . | /" ARE STAINLESS STEEL "CE" LABEL —\] [#remerew i €
I L I A £ I \
i : 76
i i — VITON DIAPHRAGM \ )
i | QUALITROL LOGO —
| < 3) PLCS
L (3) \Q Q
L Q
ELECTRICAL CONNECTOR — 3
- ——. PG16 X 32
"WARNING” LABEL M4 X 0.7 SCREWS *
CASE DRAIN (TOP SIDE) NOTES:

VENT (2) SO 228/1-G 1/2

19MM DP (CAVITY)
15MM DP FULL TH'D

@ 0 @6 @ I

i O/ i O

5MM DIA THRU O O O O O O -
SWITCH 1 SWITCH 2
= = 4"
WIRING DIAGRAM 2‘
M6 X 1 TH'D -
GROUND SCREW . @ @ .
@

DIMENSIONS ARE IN MM

— M3 X 0.5 SCREWS

SWITCH #1-ON RISING PRESSURE ADJUSTABLE FROM
17 TO .69 BARS (2.5 TO 10 PSIG)
SWITCH #2-ON RISING PRESSURE ADJUSTABLE FROM
17 TO .69 BARS (2.5 TO 10 PSIG)

NEMA 2 ENCLOSURE
TEST PER PPS-70

SWITCH OPERATION:

ON RISING PRESSURE, 11 OPENS ON 12 AND
CLOSES ON 14, AND 21 OPENS ON 22 AND
CLOSES ON 24 AT DESIRED SETPOINTS

- 1-18-18

ADDED CE & WARNING LABELS

37025 | TITLE:

NOTICE

THIS DRAWING IS THE PROPERTY OF QualiTROL COMPANY LLC
AND IS LOANED ONLY ON THE CONDITION THAT IT WILL BE USED
TO FACILITATE THE PURPOSE FOR WHICH IT WAS INTENDED

AND NOT BE REPRODUCED, COPIED OR OTHERWISE DISPOSED OF, -

- 2-9-11

ISO 228/1-G 1/2 WAS R1/2 (DIN259)

28913

- 8-25-04

P/N LABEL WAS LOCATED ON HOUSING EDGE

DUAL PRESSURE SWITCH

24596

02-21-00 | UPDATED — LABELS, SCREWS & CONNECTOR

20971

MATERIAL:

SWITCH WIRING AD S NOT 10 B LS i WHLE R AT FR FURNSSING [ 7-9-39 |REVD WIRING DIAGRAM; ADDED NOTE 7 | 20872
LAB ELS ﬁgaRAQTUSI 'I%ELPQSLSP ATI‘II‘IYRLI-I:.%F' EXCEPT BY WRITTEN ORDER
ual i - 10-7-97 | REMOVED 5 PSIG SETTING 18869
(TOP SIDE) LABEL WITH DATE CODE, MODEL NO., & [ o ALTERATION ™
AND SWITCH SETTING IN BAR TOLERANCE UNLESS NOTED, FORM 0—467 REV. E 04/06/06 | DRAWN DATE
ON OUTSIDE BOTTOM SURFACE [M] IS FOR REF.: MES e
2 PLC. DECIMAL + .02 [.5] UALITROL CHECK AT 1-3-91
OF HOUS'NG 3 PLC. DECIMAL £ .005 [.13] ® APP'D /| .
ANGULAR + 2 DEG. FAIRPORT, NEW YORK MAT 1-25—91 .

v | BASE & COVER ALODIZED ONLY

SHEET 1 OF 1
DRAWING
N 148-016—-02



AutoCAD SHX Text
1- DIMENSIONS ARE IN MM

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
2- SWITCH #1-ON RISING PRESSURE ADJUSTABLE FROM

AutoCAD SHX Text
   .17 TO .69 BARS (2.5 TO 10 PSIG)

AutoCAD SHX Text
4- NEMA 2 ENCLOSURE

AutoCAD SHX Text
5- TEST PER PPS-70

AutoCAD SHX Text
QUALITROL LOGO

AutoCAD SHX Text
(3) PLCS

AutoCAD SHX Text
VITON DIAPHRAGM

AutoCAD SHX Text
ONE PIECE ALUMINUM

AutoCAD SHX Text
COVER IS ALODIZED

AutoCAD SHX Text
%%UONLY%%U, %%UNO%%U PAINT

AutoCAD SHX Text
30

AutoCAD SHX Text
5MM DIA THRU

AutoCAD SHX Text
ISO 228/1-G 1/2

AutoCAD SHX Text
19MM DP (CAVITY)

AutoCAD SHX Text
15MM DP FULL TH'D

AutoCAD SHX Text
M6 X 1 TH'D

AutoCAD SHX Text
GROUND SCREW

AutoCAD SHX Text
13

AutoCAD SHX Text
76

AutoCAD SHX Text
102

AutoCAD SHX Text
M3 X 0.5 SCREWS

AutoCAD SHX Text
FAIRPORT, NEW YORK

AutoCAD SHX Text
2 PLC. DECIMAL ± .02 [.5]

AutoCAD SHX Text
ANGULAR ± 2 DEG.

AutoCAD SHX Text
3 PLC. DECIMAL ± .005 [.13]

AutoCAD SHX Text
TOLERANCE UNLESS NOTED,

AutoCAD SHX Text
FROM QualiTROL COMPANY LLC.

AutoCAD SHX Text
APPARATUS OR PARTS THEREOF, EXCEPT BY WRITTEN ORDER

AutoCAD SHX Text
INFORMATION RELATIVE TO THE MAKING OF DRAWINGS, PARTS,

AutoCAD SHX Text
AND IS NOT TO BE USED IN WHOLE OR PART FOR FURNISHING

AutoCAD SHX Text
AND NOT BE REPRODUCED, COPIED OR OTHERWISE DISPOSED OF,

AutoCAD SHX Text
TO FACILITATE THE PURPOSE FOR WHICH IT WAS INTENDED

AutoCAD SHX Text
AND IS LOANED ONLY ON THE CONDITION THAT IT WILL BE USED

AutoCAD SHX Text
THIS DRAWING IS THE PROPERTY OF QualiTROL COMPANY LLC

AutoCAD SHX Text
NOTICE

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
APP'D

AutoCAD SHX Text
CHECK

AutoCAD SHX Text
SHEET         OF

AutoCAD SHX Text
NO.

AutoCAD SHX Text
DRAWING

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DATE

AutoCAD SHX Text
LET

AutoCAD SHX Text
ALTERATION

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
FINISH:

AutoCAD SHX Text
C.N.

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
TITLE:

AutoCAD SHX Text
DIMENSIONS AND TOLERANCES IN ACCORDANCE WITH ASME Y14.5M-1994

AutoCAD SHX Text
DO NOT SCALE PRINT

AutoCAD SHX Text
DRAWING

AutoCAD SHX Text
WAS

AutoCAD SHX Text
NO.

AutoCAD SHX Text
NO.

AutoCAD SHX Text
FORM 0-467 REV. E 04/06/06

AutoCAD SHX Text
[MM] IS FOR REF.:

AutoCAD SHX Text
10-7-97

AutoCAD SHX Text
-

AutoCAD SHX Text
MAT

AutoCAD SHX Text
MFS

AutoCAD SHX Text
MAT

AutoCAD SHX Text
REMOVED 5 PSIG SETTING

AutoCAD SHX Text
148-016-02

AutoCAD SHX Text
1      1

AutoCAD SHX Text
1:1

AutoCAD SHX Text
1-25-91

AutoCAD SHX Text
1-3-91

AutoCAD SHX Text
1-3-91

AutoCAD SHX Text
18869

AutoCAD SHX Text
DUAL PRESSURE SWITCH

AutoCAD SHX Text
BASE & COVER ALODIZED ONLY

AutoCAD SHX Text
148-016-02

AutoCAD SHX Text
-

AutoCAD SHX Text
7-9-99

AutoCAD SHX Text
REV'D WIRING DIAGRAM; ADDED NOTE 7

AutoCAD SHX Text
20472

AutoCAD SHX Text
-

AutoCAD SHX Text
02-21-00

AutoCAD SHX Text
UPDATED - LABELS, SCREWS & CONNECTOR

AutoCAD SHX Text
20971

AutoCAD SHX Text
-

AutoCAD SHX Text
8-25-04

AutoCAD SHX Text
P/N LABEL WAS LOCATED ON HOUSING EDGE

AutoCAD SHX Text
24596

AutoCAD SHX Text
-

AutoCAD SHX Text
2-9-11

AutoCAD SHX Text
ISO 228/1-G 1/2 WAS R1/2 (DIN259)

AutoCAD SHX Text
28913

AutoCAD SHX Text
-

AutoCAD SHX Text
1-18-18

AutoCAD SHX Text
ADDED CE & WARNING LABELS

AutoCAD SHX Text
37025

AutoCAD SHX Text
14

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
14

AutoCAD SHX Text
%%UWIRING DIAGRAM

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
   ON RISING PRESSURE, 11 OPENS ON 12 AND

AutoCAD SHX Text
6- SWITCH OPERATION:

AutoCAD SHX Text
   CLOSES ON 14, AND 21 OPENS ON 22 AND

AutoCAD SHX Text
(8) THREADED FORMING SCREWS

AutoCAD SHX Text
ARE STAINLESS STEEL

AutoCAD SHX Text
22

AutoCAD SHX Text
21

AutoCAD SHX Text
24

AutoCAD SHX Text
   .17 TO .69 BARS (2.5 TO 10 PSIG)

AutoCAD SHX Text
3- SWITCH #2-ON RISING PRESSURE ADJUSTABLE FROM

AutoCAD SHX Text
   CLOSES ON 24 AT DESIRED SETPOINTS

AutoCAD SHX Text
24

AutoCAD SHX Text
22

AutoCAD SHX Text
21

AutoCAD SHX Text
SWITCH 1

AutoCAD SHX Text
SWITCH 2

AutoCAD SHX Text
M4 X 0.7 SCREWS

AutoCAD SHX Text
LABELS

AutoCAD SHX Text
CASE DRAIN

AutoCAD SHX Text
VENT (2)

AutoCAD SHX Text
SWITCH WIRING

AutoCAD SHX Text
(TOP SIDE)

AutoCAD SHX Text
OF HOUSING.

AutoCAD SHX Text
ON OUTSIDE BOTTOM SURFACE

AutoCAD SHX Text
LABEL WITH DATE CODE, MODEL NO.,

AutoCAD SHX Text
AND SWITCH SETTING IN BAR

AutoCAD SHX Text
ELECTRICAL CONNECTOR -

AutoCAD SHX Text
PG16 X 32

AutoCAD SHX Text
"CE" LABEL

AutoCAD SHX Text
"WARNING" LABEL

AutoCAD SHX Text
(TOP SIDE)


